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GRAMMAR 

Tick () A, B, or C to complete the sentences. 

Example: She’s from Germany. ________ name is Steffi.  

 A  Her       B  His      C  She   

1 A What’s ________ name?  
 B I’m Jia. I’m from China.  
 A  her      B  your      C  their   
2 Where are ________ bags? 

 A  our      B  ours      C  we   
3 Six hundred pounds? That ________.  
 A  an expensive camera is      B  is a camera expensive      C  is an expensive 

camera   
4 Is that ________ car?  
 A  Carlos      B  Carloses      C  Carlos’   
5 A Are those your friends? 
 B No. ________ friends aren’t here today. 
 A  Her      B  Their      C  Our   
6 A Is your husband here?  
 B Yes. ________ husband is over there. 
 A  Our      B  Your      C  My   
7 These books are very ________. 
 A  old      B  fast      C  slow   
8 This is our ________ house. 
 A  parents      B  parent’s      C  parents’   
9 Chantelle and Veronique are French. ________ husbands are Italian. 
 A  Their      B  They      C  Her   

10 Here are ________ sandwiches: one cheese, and one tuna. 
 A  your      B  yours      C  your’s   
11 This is my new book. ________ very good. 
 A  It      B  It’s      C  Its   
12 Alina is ________ sister. 
 A  Brunos      B  Bruno      C  Bruno’s   
13 ________ mother and father aren’t from England.  
 A  Their      B  They      C  There   
14 I’m Ana, and this is my ________, Sara. She’s a doctor. 
 A  brother wife      B  brother’s wife      C  wife’s brother   
15   This is ________ mother. My father isn’t here. 
 A  her      B  his      C  my   

16 My father’s name is Tom. ________ sister’s name is Erica.  
 A  His      B  Their      C  Her   
17 Those are ________. 
 A  cars fast      B  fast cars      C  fasts cars   
18 It’s a ________ car. 
 A  cheap      B  Hiro’s      C  our   
19 Her ________ are nice.  
 A  son      B  sons      C  son’s   
20 That’s Marek’s girlfriend. ________ beautiful. 
 A  Her’s      B  She’s      C  She   
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VOCABULARY 

a Tick () the correct word A, B, or C to complete the sentences. 

Example: I’m married. I have two ________: a boy and a girl. 

   A  child      B  childs      C  children    

1 My father is married to my ________. 

A  mother       B  wife      C daughter   

2 My ________ is very nice. His name is Angelo. 

 A  boyfriend      B  girlfriend      C  woman   

3 Patricia is my ________. 

 A  children      B  sister      C  friends   

4 That’s my ________. He is 15 today. 

 A  children      B  daughter      C  son   

5 My brother’s married. His ________ name is Carmen. She’s a teacher. 

 A  wife’s      B  husband’s      C  sister’s   

6 These are my ________. Their names are Ashley and Miguel.  

 A  man      B  people      C  friends   

7 Sally is 21. Her ________ are 55. 

 A  father      B  mother      C  mother and father   

b Tick () the correct word A, B, or C to complete the sentences. 

Example: Your mobile phone’s fantastic. Is it ________? 

   A  late      B  today’s      C  new    

8 My friend has a very ________ name.  

 A  cheap      B  fast     C  long   

9 That coat is very ________. 

 A  difficult      B  dirty      C  slow   

   10 That car is £500. Wow! That’s ________! 

A  big      B  cheap      C  long   

11 Your house is very ________.  

 A  clean      B  fast      C  short   

12 These sunglasses are very ________. They’re £150. 

 A  easy      B  expensive      C  long   

13 That’s an ________ bag. It’s a nice colour. It’s £250.   

 A  expensive      B  big      C  ugly   
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c Tick () the word that is different.  

Example: A  short      B  long      C  old    

14 A  friend      B  husband      C  wife   

15 A  beautiful      B  slow     C  ugly   

16 A  yellow      B  big      C  blue   

17 A  child      B  easy      C  short   

18 A  big      B  small      C  red   

19 A  son      B  children      C  daughter   

20 A  fantastic      B  great      C  terrible   
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PRONUNCIATION 

a Which word has a different sound? Tick () A, B, or C. 

Example: A  mother     B  father       C  brother   

1 A  son     B  husband      C  computer   

2 A  awful     B  park      C  daughter   

3 A  fast      B short       C  small   

4 A  family      B  woman     C  bag   

5 A  brother     B  sport     C  awful   

b Which is the stressed syllable? Tick () A, B, or C.  

Example:  A  ex|pen|sive      B  ex|pen|sive       C  ex|pen|sive   

6 A  diff|i|cult      B diff|i|cult      C  diff|i|cult   

7 A  fa|mi|ly      B fa|mi|ly      C  fa|mi|ly   

8 A  e|lec|tric      B e|lec|tric      C  e|lec|tric   

9 A  mu|se|um      B mu|se|um      C  mu|se|um   

10 A  fan|tas|tic      B fan|tas|tic      C  fan|tas|tic   
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